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20,000& = 38 * 80€ 4,800
O A401H =01 88 82
20,000& = 28 * 53¢ 2,120
0O 3lo, unsg d&s s &4
80,000& = 3& * 123 2,880

80,000& = 2% = 102l 1,600




2N AT Al
M AM#FO 52F el
Ee: 2RIA2e L HAEIHSS 2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B S Ol At o8 %@ﬁ HRE2
401 AlEHIZL 2 0HY| 25,000 14,000 11,000
01 Al&H| 25,000 14,000 11,000
O 2R 2 L 28 2z 2482
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028 Ma 2B £42
500,000& = 104 5,000
HEALS 22 4,720 0 4,720
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O HRAMY S= 28 L S=23 M
L0008 = 200 1,000
(==l 1,920
O M2 A28y g2 =X
8,0008 » 2% * 120 1,920
202 044l 1,800 0 1,800
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202 044l 1,440 1,440 0
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300& = 10,0000H 3,000
O HdFMERESE 7Y
30,000& = 108 ~ 12& 3,600
O HEFMRININ 228 2
600,000& = 12& 7,200
0O 2g=+¢ 1,960
O Ce2% 28 AY ZHAAS 24 29
70,000& * 798 « 43] 1,960
0O =&l 6,160
O TzMEE HEl =4
8,000& * 78 » 60 3,360
O L4&8xs g2 =4
8,000& * 7H » 50 2,800
O gxt= 6,000
O 48X HEd OHE &dl Xt
600,000& * 103l 6,000
02 Zz2gH| 4,749 4,749 0
03322 % HMA 4,749
O SEMNBENIAN R2BZ
2,130& = 2,0000H 4,260
O S2MN8BE & DN EBIESRER
1,630& * 3000H 489
202 oidl 13,000 13,000 0
01 = LH YI 13,000 13,000 0
0 S2E250 28 42 =
20,0003 = 3H = 303l 1,800
O 48112 ANEHSHR =
20,0003 = 53 = 403l 4,000
[ S2HFAL EBAIR 2208
80,000& = 53 = 153 6,000
O 2ZR Hape #3 32
20,000& = 2H = 303l 1,200
401 A& BIZ 201 8] 106,900 106,900 0
01 A& HI 106,000 106,000 0
OANZE 2 JIEtE2 08X 24
100,000,000 * 1A 100,000
[ 229 Wepel 28 58 248
00,000&  25E X 5,000
0 228 W ZHEI 242
40,000& » 25 X 1,000
03 Al =2 THHI 900 900 0
O AIE =208l 100,000,000 * 0.90/100 900
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01 AP 22| H| 11,550 11,550 0
O det=2H| 6,750
O d#IMNREE 7Y
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O =&l 4,800
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401 Al HI L 2 0HHI 26,390,559 24,262,713 2,127,846
01 A& H| 26,330,000 24,208,000 2,122,000
[] OlES ZAIZ2I (R ANHBHEZ2 AH|ZA}
20,000,000& * 14! 20,000
[0 OtEES 22l (s )s2 2 2 JH|2
At 45,000,000& * 14 45,000
[] OlES &d42|(2&) OtS0ot2 &2 At
30,000,000 = 14! 30,000
[JOIES oli1el KNAIOIS ot & & 2 g2
Bl S At 50,000,000& * 14! 50,000
OOES K22l (XS )s2 L =2 HHIZ2A
30,000,000& = 14! 30,000
O OZES thal1el(83)i2=2 JHH & 52X
&S A 40,000,000 * 14! 40,000
JotZg 12 (A41NX)s2 & Hi+=2 HH2
Ak 45,000,000& * 14 45,000
O OES 22| (A )s2 & =2 HHIZ2A
30,000,000 = 14! 30,000
O OE S sA32(2H)W =2 HHl =2 A
50,000,000& * 14 50,000
O OES Q2 (2H)s2 HUl 2 A
30,000,000 = 14! 30,000
[ OtES 22 ("o )2 AH| L orAZZ
2 At 30,000,000 = 14! 30,000
[0 OE S Xl LA =2 ZXZ2A
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0 OtES 042 WRE 52 L 42 IHIS
A 45,000,000& * 14 45,000
[0 Ot S 432l HIMES =2 FEHIZSA
40,000,000& =« 14 40,000
O Ot g Sat2el(ZsS)EH IS A
40,000,000& * 14 40,000
O OZEZg MARR(SE)sZ2 € =2 FHIS
A 45,000,000& * 14 45,000
O Otx g MA22(2E)s2 € =2 FHIS
A 40,000,000& * 14 40,000
O OFE S =AH2 0HDI0IS Y2 HEIZBA
40,000,000& * 14 40,000
OO0Es 53812 22 s2 ZE3AM
35,000,000& * 14 35,000
[0 OEE &d22 HEHs s2 & == FH|
S A 25,000,000& =« 14 25,000
0O O0Es sd1el s40tS 22 &S SA
50,000,000& * 14 50,000
O 0ZEs HMAtel S =2 FHI3A
25,000,000& * 14 25,000
O O0Es tHed1el =2M2 SHSA
40,000,000& = 14 40,000
O OtEE HE22(H3B)s2ME 3 A A&
29 20,000,000& = 14 20,000
O otZg telze(d9d)s2 Angy &AL
20,000,000& =« 14 20,000
0O 0E3g sde Y=z SEIA(F=LEH
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0 OlEs 332 (UX)s2 ¢ =2 Jdla3
A 40,000,000& * 14 40,000
[J OtE S 242l ~ elz2el =2 EXSA
35,000,000& * 14 35,000
O OtZ g &&42l(& =2 ZHIZA
30,000,000& * 14 30,000
0 OtZs Sit2el A=0tSetZ IS A
45,000,000& = 14 45,000
OOES 212l 2 s2 & =2 ZFHISA
35,000,000& * 14 35,000
O OtEZg 22l (ME)=2 L =2 I3 A
35,000,000& * 14 35,000
[0 =48 AES ZESHLAT AT EZFESA
30,000,000& * 14 30,000
[0 =48 342 2AX0S AFEZHI S A
45,000,000& = 14 45,000
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S A 40,000,000& = 14 40,000




FN: HAEZAD
My 4)|E2 SEME JUEY
&S sEIIEAIE &35 Fdl.sX2el (&)
5 - 4
SN EA(SA) - MEAY - BES 0l &t o il Bl R &2
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ZHIS A 25,000,000& * 14 25,000
0O s48 322 NMEHE =2 FHI3A
80,000,000& * 14 80,000
0 s48 312 2AS =2 FHISA
35,000,000& * 14 35,000
0 s4H 212l itz s2 ¥ =2 &4l
S A 30,000,000& * 14 30,000
0O s48 g4 iZel s2 FHISA
25,000,000& * 14 25,000
[ 540 942 2XNE L 425 52
Hl S At 25,000,000& * 14l 25,000
[0 s40 2332 AFH ZFHIZ2 A
30,000,000& * 14! 30,000
0 =43 2342 1= AL HEI S A
30,000,000& * 14 30,000
0 =48 222 832 =2 FHEM
40,000,000& = 14 40,000
O sat S=12l M =2 ZHISA
35,000,000& * 14 35,000
0O s40 Hddel S0 =2 FHISA
25,000,000& = 14 25,000
0 S43 -32 %iiDsY 4R 52
ZHIS A 25,000,000& = 14 25,000
0 s48 32 JIISE0sS s2 ¥ =2
ZHIS A 40,000,000& =« 14 40,000
0O s40 2312 == 2 FHI3AM
40,000,000& * 14 40,000
0 =43 3121 &K= =2 FBISA
20,000,000& =« 14 20,000
0 s40 LgAg| ZE6H0] a2 FHIS A
25,000,000& = 14 25,000
0O s40 2312 == =2 ZH3A
20,000,000& = 14 20,000
0 s40 Hdde| 2= =2 FHISA
30,000,000& * 14 30,000
[0 =48 2342 %= tH+=2 ZHI3A
30,000,000& * 14 30,000
0 =40 g¢12l S =2 ZH3A
45,000,000& = 14 45,000
O sa2H 3312 NEZ2 s2 FHISA
30,000,000& * 14 30,000
0O g8 s&1el sti=2 ZHSA
40,000,000& = 14 40,000
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50,000,000 * 14! 50,000
[0 YA S (ELSXSH ) =2 FHHIZ2A
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[0 g9 2412 s2 EHIZ2AH
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60,000,000 * 14! 60,000
[ g8 2422 (843 )s2 HU|l 2 A
80,000,000 * 14! 80,000
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30,000,000& = 14! 30,000
[0 9 2422 =2 & 2 ZHI2A
50,000,000& * 14! 50,000
O gH 2222 ME EUIZ2AH
50,000,000& * 14! 50,000
0 Y4d 2212/ (JI20t2) )M =2 HHI 2 A
10,000,000& = 1A 10,000
[0 Y4 2222 (RE)BHEZ AU 2 A
30,000,000& = 14! 30,000
O oHEH ZAE22 (W) EE Y Z2A
60,000,000& * 14! 60,000
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50,000,000& * 14! 50,000
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40,000,000& = 14 40,000
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60,000,000& * 14l 60,000
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30,000,000& * 14 30,000
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50,000,000& = 14 50,000
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30,000,000& * 14 30,000
02 %2 =2 & =2 FHISAM
80,000,000& =« 14 80,000
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0 2&EH &=512 s2 ZHI3A
80,000,000& = 14 80,000
0O 28H &522 02t S A I A
40,000,000& = 14 40,000
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S A 40,000,000& = 14 40,000
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50,000,000& * 14

0O 220 44822 =2 NES3AM(F2UEA oA

) 170,000,000& = 14
0223 1,22 =2 HUIZ2A

90,000,000& * 14 90,000

0O 2&H 2&2 A& ZHISA

80,000,000& =+ 14l 80,000

+

O
0
Mo
e
(12
0x

50,000

170,000




2N
X ZH -
L= B

el

ALEAID
A)|ES SEMH IUEY
SEIPAE 25 . ZH.]X 2

5 - 4
A FB B (EN) - HRAY - BES 0l &t o il Bl R &2
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40,000,000& * 14l 40,000
0O 2% TZel AE ZHISA

70,000,000& =« 14 70,000
0O 2&H =328 =2 ZHI3A

30,000,000& * 14 30,000
0O 228 &332 =2 & 52 ZZ3A

50,000,000& = 14 50,000
0O 2% =312 A& ZHI3A

40,000,000& = 14 40,000
O HEH S812 th=2 X3 A

60,000,000& = 14 60,000
0 HEH =822 =2 ZHISA

40,000,000& =« 14 40,000
O 2™ a1l oS¢t =2 FHISAM

60,000,000& * 14 60,000
O HE2H Ogiel th==2 I 3SA

60,000,000& = 14l 60,000
0O H2H Og2el orsetz IS A

60,000,000& = 14 60,000
0 H2H ZX1el 0S¥ nEHH S A

50,000,000& = 14 50,000
O HE2H 232l == HHISA

40,000,000& = 14 40,000
[0 E2H SoHel 242 & ge2d 52

ZHIS A 60,000,000& = 14 60,000

[0 HZ2H Hitiel 225 s2 ZHI3A

40,000,000& = 14 40,000
O HEH Sdote2el 22 FHISA

80,000,000& = 14 80,000
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0 H2H 1l s2 ZEI3A

40,000,000& = 14 40,000




2N
X ZH -
L= B

el

o oy
M S nx
Uty H

S|

= - — SHE]|
SN HH-S(SN) - MRAY - B 0l &k o8 il HlnE2

O HE2H Fd3el th+==2 ZHISA

70,000,000& * 14l 70,000
0 HEH SH12l 222 s2 ZEZ3A

30,000,000& * 14 30,000
O H2e 2312l 0I8Y =2 ZH3A

30,000,000& * 14 30,000
O W2Y sx1el 32 =2 FHI3A

50,000,000& = 14 50,000
O HEH sxliiel AUls s2 SZHIEAM

40,000,000& * 14 40,000
02N sxi2el €52 =2 X ZAM

30,000,000& * 14 30,000
[0 HE2H sxi2el et ti+=2 EXI3 A

30,000,000& * 14 30,000
0O H2Y S22l Ot 20N A ZHISA

25,000,000& * 14 25,000
0O HZ2Y sSX3cel 24 0222 ZHISA

50,000,000& * 14 50,000
O HE2H sXli4el th=+=2 X3 At

30,000,000& * 14 30,000
O HE2H sXi4el otA2 ZEHIA

20,000,000& =« 14l 20,000
O H2H S22l A& ZHISA

70,000,000& = 14 70,000
O AHEH 27112l th+==2 ZHI3A

50,000,000& = 14 50,000
0 EH 22I32 022 =2 X 3AM

30,000,000& * 14 30,000
O HE2H s31el th+==2 ZHI3A

40,000,000& * 14 40,000
O HE2H S2H22 ME & =2 ZHHISAM

120,000,000& * 14 120,000
O HEH sl s2 ZESA

20,000,000& = 14 20,000
0 S4d 01922 (ME)i =2 Ul S A

55,000,000& = 14 55,000
O sadH dE12l(Z)h=2 ZHIZA

50,000,000& = 14 50,000
O S&H daze(2d)s2 FHISA

20,000,000& = 14 20,000
O s&H B3l (2E)H+2 ZHIZA

40,000,000& = 14 40,000
O S&H &31el 22 s2FHISA

45,000,000& = 14 45,000
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90,000,000& = 14 90,000
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45,000,000& = 14 45,000
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[0 s4&H 2322 28 NEZEISA
90,000,000& * 14l 90,000
O sad X (sH)sz2 ZHSA
30,000,000& * 14 30,000
0O S4te Eist2el (EHE )i +=2 ZHIS A
30,000,000& * 14 30,000
0O S48 a4z322 (232 ZHISA
25,000,000& =« 14 25,000
0O S&E EfsH1el (OtHoN =2 ZHI S A
20,000,000& =« 14 20,000
0O S4&s Adie(ME)+=2 ZHISA
65,000,000& * 14 65,000
O sad dge(1ey)s2 U3
60,000,0003J * 14 60,000
0O S&H Ageel JII8E s2FHI S A
30,000,000& * 14! 30,000
O sS4 222 (2S)s2 ZHISA
60,000,000& * 14l 60,000
0O S¢s oX1e RE 52 SEZZI3A
150,000,000& * 14 150,000
O S&tH olXiz2el == ZHI 3 A
55,000,000& = 14 55,000
O S4&H Bisteel “2ld] =2 & X SA
20,000,000& = 14 20,000
0 s&H &z12l =25 sZ2ZFHISA
70,000,000& = 14 70,000
O sad A2l (Ml)s2 ZHISA
40,000,000& =« 14 40,000
O sad diel(AE)l+2 X3 A
30,000,000& * 14 30,000
0 s¢&d 4322 SHURE =28 & =2
ZHIS A 20,000,000& =« 14 20,000
0O S48 az12l OHXIDI s2 SZEHI3AM
20,000,000& = 14 20,000
O HgH 212 OtA2 ZE I3 A
120,000,000& * 14 120,000
O Hes sAM32(IU)OISRY 2 FEIS A
130,000,000& * 14 130,000
O e g2l (gah)ME 8IS A
100,000,000& * 14 100,000
O HgH sSE32 (2UHAMA 3 A
100,000,000& * 14 100,000
O tHeH &3 Y2 JHSAM (=&
&h) 130,000,000& * 14 130,000
O e dH3el(MS)AS IS A
100,000,000& * 14 100,000
O e dH3e(Ms)c2 &3 A
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O gs d81el A& ZHISA
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70,000,000& * 14 70,000
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55,000,000& * 14 55,000
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100,000,000& * 14 100,000
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70,000,000& * 14 70,000
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A 50,000,000& = 14 50,000
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70,000,000& =« 14 70,000
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40,000,000& * 14 40,000
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